i)Y e liad) 840 (1o ilad) J2a Jrasd a3

[=] 1.5; [=]
[=]:¥

dogliadly JLil) tiuwel3d) 3o gl Jo> dlin] asly ad) Lidyy addle

caladl iy cLlasde 5 ol Juaad) & cLjus & pld) e ol Caddl & du) LYl zeliadl & maliad] 2850

01:23:43 2025-01-30 :zaliad] 2350 (oo Caladl d5La) 70,

Jac Gl | cings g oogse | Jobo | onl i) | aig Sl cnl,last | ) S | alaald S T enlile  [[50ke o 130l
Gogaall | lgl] Glomia¥l | Aging ol Sae | o iy clasele | (s puloni) zgie ol

Y oSy Y a.ml.m.” >0
éiw-- if @ e 2l LY

)

bl I & ula) dall) du ) axl) dre M) d il plali (e algal

Gilsilly (sl lga dasl I axgl) Jo> alinly ad) by asels 1

due jeilly dldldl) el jlad) circuits parallel and series dxl ) 8a>4)) dxx>) o 2
circuits parallel and series dxl I sa>g)l Jac G5l T 3

due @ity dulddll ool la) Circuits Parallel and Series dxl ) sa> gl dnx] o alinl 4
ixl ) 8axgl) o dlarend) <l Jadl circuits Simple Jo¥) quid) dxs po ali] 5



https://t.me/uaecourse
https://almanahj.com/ae/id=30681
https://almanahj.com/ae/id=30681
https://almanahj.com/ae/12physics2/reports
https://almanahj.com/ae/12physics2
https://almanahj.com/ae/12physics
https://almanahj.com/ae/12
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2025-01-29
https://almanahj.com/ae/12physics2/sheets
https://almanahj.com/ae/12physics2/slides
https://almanahj.com/ae/12physics2/keys
https://almanahj.com/ae/12physics2/exams
https://almanahj.com/ae/12physics2/quizzes
https://almanahj.com/ae/12physics2/book
https://almanahj.com/ae/12physics2/guide
https://almanahj.com/ae/12physics2/files
https://almanahj.com/ae/12physics2/files
https://almanahj.com/ae/12physics2/final
https://almanahj.com/ae/12physics2/notes
https://almanahj.com/ae/12physics2/reports
https://almanahj.com/ae/12physics2/english
https://almanahj.com/ae/12physics2
https://almanahj.com/ae/12physics2
https://almanahj.com/ae/network12
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade12uae
https://www.facebook.com/grade12uae
https://almanahj.com/s/a00813
https://t.me/almanahj_bot
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://bit.ly/2PxutsU
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://t.me/uaecourse
https://almanahj.com/ae/12physics2
https://almanahj.com/ae/id=30680
https://almanahj.com/ae/id=30175
https://almanahj.com/ae/id=30060
https://almanahj.com/ae/id=30029
https://almanahj.com/ae/id=30024
http://www.tcpdf.org

5.6 ((Js9l £321) 51 ¢l e Sloglaadl Juwo 3

Saturday, January 18, 2025 1:10 PM

Al A Jual) A gliall g Ll dualdd) Baa o)) aliia e AGN Cial)

(853 23V ) e 0 eMds pzd) 5.6

{:‘)l /QL(;\ ‘L\&l’ ;.)» ) -3
e T —~ o=,
R Q
tv— < L)
— A Rz
A\
| AN
Ly R |, 8

\]MJ = AV\ = A\‘ Iz _,.el-\ ‘;.ﬁ
A\/ = [«l 1 RQ_& = |-'\ R\ = L‘LR7
@ D S B N R S Gl Gy
" 7 == s =9
LJ,;G-L - L\ — [_b_.t_lz
R = Ai ',l )
L
Lyb= Liox Lo 4 (g =05 LN Rz, (20}
N &4y, o BV
EQ?, ) R R‘u Rs
Ll
R?ﬂ Rn R Rg

Re‘{ (—‘*T*—\

v <37

2\..3i.g_£ WS (R WA wlﬁ\auuh,l\
Rg’— R

N
alile s mlla (pa U guat Y

1 4l 38 d gt L8



Al ) Jeal) A gliall g Ll dualdd) Baa o)) pdiia yde Ul Cikall

U MNre
L= L laris @\é oIS Qe JupT

=
_R_?.q(: ( -%‘_‘ * \EJ—J&{D‘J

| R' 2 T
e = é‘:_ 12 _ o Lt

aSile 3 plla (ya U guad ¥ 2 Ll 58 gkl 5L8



AU a2l Jaadll A gliall g Ll demaldd) Bas 5l Aia pie AU Cial)

D . P | § o L, o)

neg=""=
Ty q})
L= .

oA 3\ s s 59
)

|
b
NN

'VV

AP A\ PR S TP A WSS e




A nad 32l Sl

LJ&AU okl POPAES| 54 gl

adita pde A Cisal)

A P PO Ve e ||

AV M Qe e

r . =

A ——. SRAN :
SPSE ey
peg-_/-__\_—-_t .\_.- + _,_.._,.__\:\ 'Rqu: Q\i‘ 21’* BT ~q\'s‘.,al)
<R R J ( = <\
L/L'Tnil)l\ o= 53 {\]j\ = RQQY
Gees
REQ{?- —-B—— Re‘b"" N ‘?\ =, (2l
N |
o= Rer; SR Yz, 2\
" ) U{_—a_s _ (ﬁv(_fu;
N . . T s, Mg
Dl S T eeRt
24 (= =
o ‘A&b‘ i 1:: ._.!L{U- i & & @w (y-*ﬂ'ﬂ'
Qﬂe&;‘ S e A =ER
e =Glp
~ VY '],
_Ma\—_.._j i, i}u : Gt
il P L I g
< = o
S oz / 5 ; Eh; A 21 \ g \
AU aoblcr, o SR —r C . S8 QL:
- s i a -3 . |
- (_\--?,,i.':' «-—-—_ré&%a&fp /'_pg;r_uab e— 12\ R, G- &
—r ‘-_—’ o
4 Al a0 L ghd LB

aSile s rlla (ha Uguall ¥



5.6 Resistors in Parallel

IS o cia gl Jua 5 5,6

1

You make a parallel connection between two
resistors, resistor A having a very large

resistance and resistor B having a very small
resistance. The equivalent resistance for this

combination will be

pslall ¢ g 31l o (e glia Juua gy 2 o8
da glia AIB o gliall g ) B S da glia AIA
pagd ABLEa)) da glial) () gShs 122 B pibea
15 padl

. Apgiall Laglia (ya Jully JB

slightly less than the resistance of resistor A.

. Apglial) daglia (o July S)
slightly greater than the resistance of
resistor A

. Bagiall 44 glia (ja Juliy s

slightly greater than the resistance of resistor B

B pstiall daglia ¢pa Jully JBi
slightly less than the resistance of

resistor B
2
For the circuit shown in the figure, Vornf A5 1) (Al gl B il e talaie)
if another resistor with equal - JHia il dl AT JL‘n.a“J,m ¥¥
resistance was connected with R in pslial) aa (g 35l o daglaal)
parallel R
what happens to the magnitude of @daial) Ll jaka e § ey 13l
the current flowing through the M g Ua) 4
battery? R
Becomes half Becomes twice
ale S L il sy ale (Sl i sy
Becomes four times Stays the same
ade GlS La ) Ay ) grsmay e oS LS Ay
3

What is the equivalent resistance of
the circuit shown if
R, =240Q,R;, = 4002 ,R; = 1602 ?

Blal B AsBlsal) daglial) )sha La
s O caale 1) SN Ao gal)
R, = 240,R, = 4002,R; =

1610
56Q | 61Q 10Q | 770
aile s plla (pa Uigaui ¥ ALl 58 L glad 5B




The equivalent resistance of the
circuit shown if R, = 2.302 .

If R, =402and R; =162, | |«

what is the resistance of R;?

Aoz gall B ilal) B Au8l<al) 4 glial)
Req = 2.30 g sbus Jsilly
R3 =3R; = 4002 : ol e 13)
1602

¢ Ry daglia laia Le

410 | 710 3

11Q | 2.90

5

When a 125-V emf is placed across two
resistors in series, a current of 5.00 A is
present in each of the resistors. When the
same emf is placed across the same two
resistors in parallel, the current through
the emf is 25.0 A. What is the resistance of

the larger of the two resistors?

A A G glia aa 125V Lian Jua gl 2is
Jaal) (il Jua g5 X g (pa gliall (2 SA LS ey
sdaall Ga LS pan 631 Je (e gliall (il aa

.25A
¢ Sy A gliall daglia laia La

26.7Q | 18.1Q

6.91Q L 2.890

alile s mlla (o Ugudi ¥

38 gl 18




6

Which combination of resistors has the | 4l<e daglia ) 43 AN cila gliall (pa casi 5 gl
highest equivalent resistance ?

¢
1
R
Vemf ]
Vemf | RY RY R
@)

Vemt R

VernL N R R

(b)
a \ ¢ \ d \ All are the same

7
A resistor of unknown resistance and a A 2 glia g 4a gliall J sgaa o glia Jaa 5 ol
35.0-Q resistor are connected across a 120 V 4sily ¢S Adla b 2 jlean 35.0 Q 4:'\&3114
120. V emf device in such a way that an 1.0 A 430 S (3000, mand f-'-uh-'
11.0 A current flows. What is the value T4l sgaal) A glial) Aas La
of the unknown resistance?

aSile s lla (ha Ui Y 3 Al b L glad LB



8

As more identical resistors, R, are added to the Sl gliall (ya L 3al) Ciudal Lals
circuit shown in the figure, the resistance (JSA) (B Adpall B il ) RAG Unial)
between points 4 and B will i guB 34 Cpilaidl) (g da gliall (L8
sl Jas a3
Stay the same decrease increase
9
series with Three light bulbs are connected in | (Vi) o 43 g prabias 4D Jua gl o
a battery that delivers a constant potential Al Ladie Ve Wl aga (3,8 il &y U
difference Vemt. When a wire is connected 98 LS 2 AL ) luaally dlu Juai
across light bulb 2 as shown in the figure, light O (JSA) (A8 Cana
bulbs 1 and 3 g3 1 Gaib S Gaaluadll

ALl S 55 Ol LS LaS At f ghacally iy
burn just as brightly as they did before the wire was connected

el Jua g S8 Lags sk (0 ST £ ghaasy (lisaday
burn more brightly than they did before the wire was connected

Alodd) S g5 S8 Lags sl (3o JBI £ gl (i

Vi burn less brightly than they did before the wire was connected

go out Okl

10

Which of the following is an incorrect flaaa e 4l ol jlad)
statement?

Lagbuaia (M gill o Aluaia 4355 581 5 3¢l e (3Raall LAY (S
The currents through electronic devices connected in series are equal.

Lgbdia (g 3) 53 o Aluaia Ay g iS)) B gl e GRaal ) (300 (158
The potential drops across electronic devices connected in parallel are equal.

S o Glaglia Jua gl ic jiual) dagliall e Ll (e al) G0a5
More current flows across the smaller resistance when two resistors
are connected in parallel.

Al o Glaglia Juagi sie i) dagliall jue LAl Ga b el (38005
More current flows across the smaller resistance when two resistors are connected
in series

aSile s lla (ha Ui Y 4 Al b L glad 5L




11

Two identical light bulbs are connected to a
battery. Will the light bulbs be brighter if they

are connected in series or in parallel?

Onfildaia (il g (paluas Jua gl o
Cialuaal) Spla) ¢ s Ja L 4y
ol (sl o Lagliua g3 a3 13) Lo gl S|
sl si e

12

For the connections shown in the figure,

determine the current 7; in terms of the total

current i and R; and R>

(JSE A Al CBlna i) ) Apudlly
3 Ry 9 i ASH b Aoy Ll aas
Rz

13

A wire of length L, diameter d,
resistance R is made of material with
resistivity p. If I take the wire and cut it
into five equal pieces and then put those

Bala (4 £ gluas R 4lagliag g o kg I, 4lsh dllu
el ) ddakad g Al ) 13} o daglila il
L_gjlﬂlu-b chﬂ'ﬁémi.‘a.uh‘,‘ﬂa.‘i‘gm@a

Lad (/5 A gb Ay dlad) iy aa) g élla ¢y o83l

pieces in parallel to make one single A glia 2
thick wire L/5 in length, what will be its
resistance?
R/5 | R/25 R 5R
aSile s il (o U geali Y 5 A3l 5 L ghatl 5L




14

A multiclade wire consists of a zinc core
of radius 1.00 mm surrounded by a
copper sheath of thickness 1.00 mm.
The resistivity of zinc is p = 5.964 X10-8
Q m. What is the resistance of a 10.0 m
long strand of this wire?

O A G culd e () 980 Slidal) dada dllu
Aau gl iy Blaa],00 mme ki ciual
O ALl Ao ol dagliall 351,00 mm
p=5.964 x10*Q m

10.0 m Ll sk cllad) 138 (e Al Laglia La

15

gy Ll o cudg g 1l Ao oS g o Ay Uan Al 148 B 10 (B (e glia Jpua 5

o) (ol gl Sl Ay Uaall g Cpna gliall il gl

Two resistors were connected in an electrical circuit to a battery in series and then
in parallel, and the current and voltage values of the resistors and the battery were
measured. Complete the following two tables

Table2 2 Jea)
AV(V) I(A) paial) Table 1 1 Jds)
Element AV(V) 1(A) sl
45V R4 Element
05A R, 3.0V R,
45V 4y 05A R,
battery 45V a4 )
Jaea 531 43, 5k battery
Connection Jaa gl 43, )k
type Connection
type
aSile s gellua (ya U guaii Y 6 A 8 L gl 5L




5.6 Resistors in Parallel

IS o cia gl Jua 5 5,6

1

You make a parallel connection between two
resistors, resistor A having a very large
resistance and resistor B having a very small
resistance. The equivalent resistance for this
combination will be

P —
a kel (o ) 5D e (ha glia Jsnan g g
da glia AJB o gliall g ) 3 S da glia AJA
pigd ATBlCal) 4 glilal) () gSis Jan 8 jua
15yl

. Apgiall Laglia (ya Jully JB
slightly less than the resistance of resistor A.

. Apglial) daglia (o July S)
slightly greater than the resistance of
resistor A

. Bagiall 44 glia (ja Juliy s
slightly greater than the resistance of resistor B

(B 50 o glia oo iy 1)

slightly less than the resistance of

resistor B
2
For the circuit shown in the figure, Vornf A5 1) (Al gl B il e lalaie)
if another resistor with equal - e udi 4l AT aglia Jua i
resistance was connected with R in psliall ra A glial)
parallel .R
what happens to the magnitude of @daia) Ll jaka e ey 13l
the current flowing through the A )
battery? Q-',._.C_/I%;)\ ' QM

~

Becomes half
agle S L dikal rnay

es twice
ale S L e mua

Becomes four times
ade IS Lo JUial day ) sy

Stays the same
agle (S LS iy

r

Al a
Vv

d".-g R-A‘x k = \J = =
Rop =R [ ded Roy= BzesR A S5 [6
3 Leten = .‘;‘f}

What is the equivalent resistance of ke Blal B AsBlsal) daglial) )sha La

the circuit shown if ol | ) Caale 1) JSANG Ao gall
Ry, = 240,R, = 402 ,R; = 162 ? N R, = 240,R, = 4002,R; =

- 1610
56Q | 61Q | 10Q | 770
R T/\ B ) J 1S
ey = 4 Yo \6> =11
aile s plla (pa Uigaui ¥ ALl 58 L glad 5B



The equivalent resistance of the & Ao pall B il (B ALl Ao glall
circuit shownif R, = 2.32 . | , L Rey = 2.30 ol Jsidly
If R, =402 and R; = 162, A R; =R, = 400 : o) ke 1}
what is the resistance of R(? 160
410 | 770 | 11Q T 290
\ \ Y\ R L Per Ao
= - = g = —_— =
A - E’e?/ *5 R:\) J?.ﬂr ('_q_i R. Qs)
-) \ \ \ \
\ \ \ =240 2-3= (-———--&-—-—-+-——-'>
o [ ol Y = g
Ri< ( 2-:3 o \6) RO
R, = U

When a 125-V emf is placed across two
resistors in series, a current of 5.00 A is
present in each of the resistors. When the

A Ae e glia ge 125V Jiaa Ja gl i
staadl (bl Jua g5 LS g e gBadl (2 SA S e
el e S pan @ V) e (e gliadl (i aa

same emf is placed across the same two L25A
resistors in parallel, the current through ¢ a6 Ao glial) da glia )oia e
the emf is 25.0 A. What is the resistance of R . 2 0, =
the larger of the two resistors? ) “-
26.7Q | 18.1Q 6.91Q | 2890
S \gw). 125V [ =5A <3 Vadenov  L:2A
R%: \JQ/Wl " \25 = 25 '?\%_‘: \J‘ew\;‘- 5 VLS B0,
C S L \‘15
- 25 sL —0 \ X % § —®
R v\ X R‘L (—E-l B ¢ ? 1,)
/ \ \ \
* - —
R s -R S
R‘u: 2L = Bq: IFRR
Rz 695
pliled pibia ¢y Liguali ¥ 2 Al 38 i gl 5L




Which combination of resistors has the
highest equivalent resistance ?

6 (U e— s.135
ACa da glia s A A0 e gliad) (e a5 (o

1
R

P

SZEEES
2

(b)

7

P |
\ (All are the same)
- N

A resistor of unknown resistance and a
35.0-€2 resistor are connected across a
120. V emf device in such a way that an
11.0 A current flows. What is the value
of the unknown resistance?

A p ga g da gliall g p e Jpua 8 o3

120 V 4l jgS dadla 5 g8 Slgay 35.0 € Adaglia
1.0 A 4335 LS (3055 rrand ARy

4 ggaall da glial) dad La

R Regy= b Ry 2] ois.
L
R?,:%Sﬂ- Qe,qr< RL S g)\s_é\d;.wé
\’%ﬁ:l'lov o
. AP G
L:“-O/Iv. R\’: R% Ro | = \O—‘\‘— 35
R‘ = \5“2 SL

aliled pella (e U guali Y

5 g oL




8

As more identical resistors, R, are added to the e gliall (e A Salf Lisdal Lalg
circuit shown in the figure, the resistance (S (A Adasal) 5l | RAG aial)
between points A and B will BB 94 bl oy dagliall ol

3 5‘1\'4’1 <13

= 20l
Ro s (Lb) yad S U
aos Jas a3
Stay the same decrease increase
9
series with Three light bulbs are connected in | (A5 o 4 g realias A0 Jua gl o3
a battery that delivers a constant potential p Lo, Pne il 3¢ B A Ay
difference Vems. When a wire is connected 35 LS 2 7 Al g rluaally el d—wﬂy
across light bulb 2 as shown in the figure, light OB (JSAl A
bulbs 1 and 3 g3 g1 Gl S Grabuaall

Aol Jaua 65 i ULS LaS Awd § ghaaadls (liiay

burn just as brightly as they did before the wire was connected

{“Zjﬁ Mid—»ﬁydﬁh#ﬁ-wuﬂﬁi&ﬁwgl',
T burn more brightly than they i d

i1
Vens burn less brightly than they did before the wire was connected
go out JQdlaly
10 e
Which of the following is an incorrect wﬂ <l uadt
statement?

Lighaia il do Aluaia Agi A8 8 gl e (gaiall LAY (ieS
The currents through electronic devices connected in series are equal.

Lasbeatia o 3 sl e Alaia Ay g il B 3ga) e (3805al) ) (38 C1sS
The potential drops across_¢lectronic devices conneeted in parallel arc equal._

@;&h e slia Jua ¢ wa..,ut 2 il e Qal)
More current flows across thie smaller resistance when two resistors

are connected in parallel

d
v
v

AT = ‘%UMJMJMym@A_%JMiJ&JM1L& 3 Sl Jgdany
e

More current ﬂows ACros smaller resistance when two resistors are connected
in series

X

aSiled zlla (e U gl Y 4 Al 3 i ghad 3L
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Two identical light bulbs are connected to a Crfdalia Gl g (palas Jua 55 o5

battery. Will the light bulbs be brighter if they Caluaal) el ¢ g Ja ,La &y jUay

are connected in series or in parallel? al (Mgl o Laghua gl a3 13 Lo gl i)
= Y g 1 —

€ - e -

e Jé;::gj"}\‘fﬂéé’"
——-—j ] \ ' I'EL'
; o ~ R

L; g =L 2Sepe = : : o-5% <
H 1‘
12
For the connections shown in the figure, (JOAd) (8 Aduaall SO ) ) Asdlly
determine the current 7; in terms of the total 3 Ry 5 i A Lol dlbay] Lol saa
current  and R, and R, =1 o R,

s tsi=

) R%:(_é_: ) ( 'Ku -\-V-\ ) - —_HR‘«-QL

LAY W =AW A\H_ oM Qs Fed
—fb — !: R% — l';l R‘ — l:L e%
— & . : L R‘L
=N AT l'.‘?w L=
Q @-R—v = R v -\-?\‘L
13

A wire of length L, diameter d, Bala (4 £ sluas R 4laglia g d s iy [ 4l gh dllu
resistance R is made of material with el A dlalad g i) G3AT 1Y R daglia cild
resistivity p. If I take the wire and cut it @l o alall) Al i g of Ay gliaia alad
into five equal pieces and then put those | L& (L/5 4sh dly o (il aal g ellu ¢y o<l
pieces in parallel to make one single A gl (2
thick wire L/5 in length, what will be its
resistance? .

R/5 | ( R25) R | 5R

‘. < g 5 - = L 1]5

o %/s R
oL g/s \QeqY = e
Boe B0 RIS
A :
7 ‘Is
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A multiclade wire consists of a zine core ) e il (e 58 ilidal) santa dlla
of radius 1.00 mm surrounded by a (el dady alaa] 00 mme ke chaal
copper sheath of thickness 1.00 mm. Cpea JAL de gil) daglialt 2151.00 mm
The resistivity of zinc is p = 5.964 X10-8 p=5.964 x10*Q m
Q m. What is the resistance of a 10.0 m €10.0 m ¢! o ol 138 (e ALaa Aaglia La
long strand of this wire?

y=\mwm Q‘“-’?L‘" A

L=lom L= low
L = lvawm Yz T2

2=_.1.- ‘P: 5,q£4]i;3_u.-m JF- | Fex168 ™

1.11“5% t\C

R 3 '5-‘?641(5%&\2__ R & = -0\

-o-|q5L
s R\ xig )

2 —
arls™ "{'(f_mot)'f'.-o-aa\t)
mEEPNENV A

15 Y= (o9 ™ soi8) -

gl S pl Gy 65 5108l (e a3 A gl o A s Al 48 83 (B (e slia Jua 5 3
T Ol cal gaadh Jash Ay Uadl g Cypa glBall (il gl
Two resistors were connected in an electrical circuit to a battery in series and then
in parallel, and the current and voltage values of the resistors and the battery were
measured. Complete the following two tables

Table2 2 Jgadt
AV(V) 1(A) il Tablel  1Jdsad
Element AV (V) 1(A) paial]
45V |o-I5A R, Element
4.5V b5A R, 3.0V o-5A R,
45V | 9 0chl 4 \-5V 0.5A R,
battery 45V 05 Ay ad)
= Jaa gilf 4Ry 5l battery
s ) Connection . Jua g1l 43y b
type c%‘—‘-’" Connection
type
L-:. A\]‘ = ';}..‘—5-—- =0~—:}‘5A R\_. A\i - 3.0 -~ Lo
1 R 6-0 ST °-5
. NS i
R.-= .__é\‘:—-—- ~—% 2 - 3

ASiled zlla (e U guall Y 6 Al 5b L glab 513



